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Ch2£143 9, 124,00024 *10% 913
ct.=5=4Y 35,7803 »1H x52== ,861
Ot. e x4 35,780& x1H 25 895
Ht. § HZ Al 60,0003 *1H«12& 720
AW ESEHI 60,0003 x1H x12& 720
Ot. BEF Ot 9,124,0002 *1/12 761
A ARERIZ2R2E 6,708& x50A| 24 336
PNIOSEY/ Fala] 18,372,000 & *6% ,103
EEE= 19,475,000& *1.3% 254
IUAHLEERZ 19,475,000& *2 . 54% 495
== RE= 19,475,000& *4.5% 877
aTEER 19,475, 0008 *4.712% 918
6. EIQYEEZ 495,000 *4.05% 21
SRS 4,200
T EE SN 4,200
EFA2IHEFAY 350,000 *12& 4,200

_15_

20
B
2




A =2 A
o MHSAAL (O L)
CHel: ol 29| (s & &
- _ _ ME
SN HA(S) - HRAY - BES Off &k o Ofl At ot Hluse
204 A=A FH| 15,240 17,160 A 1,920
01 AUSYR=AAH 1,200 1,200 0
[ESESF=goa Bty Si 100,000& »1H 122 1,200
03 SRS 14,040 15,960 A 1,920
1L.HREEER2 50,0002 x2& 128 1,200
2.0 BEERE 150,000 x5 123 9,000
3. ZAEESRE 80,000 x4 & 123 3,840
=2 75,950 76,300 A350
Jl=&Hl 75,950 76,300 A 350
201 LEH=REH| 14,780 13,180 1,600
01 AtR2cidl 14,300 12,700 1,600
(Ler=2Hl) 6,800
1. 2N 28 =24 200,000 »26H 5,200
2. ZEH/EY 400,000& 428 %12 1,600
(Sl) 7,500
12 ZAMAG2FAT 2544
5,000 «25& 541« 12 7,500
02 =224 480 480 0
(BZ2SLAHA) 480
.2uE 480
Jb.gt 2503 x20S+128 60
Lt. S 1,750 208+ 122 420
202 Oddl 60,720 63,120 A2,400
01 =2UWAHI 52,800 55,200 A2,400
1T 2ZMAGERFADI=2 0]
20,0003 »22& «10L 128 52,800
02 EH0HI 7,920 7,920 0
1.HS0IRASHALE X 2l =& O Y
220,000 38122 7,920
405  RHAHE SH 450 0 450
01 NAXESEFH=UI 450 0 450
oo 450,000 = 1CH 450
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